
 

 
 

 www.MEMT.ir         88904002:  ساعته  24   /   77181736: واحذ شرق    /   22143277 :واحذ شمال غرب  /     66198215: واحذ غرب    /   88906909: واحذ مرکس 

 

 

 

1-  

 : حل

 

 

2-  

 : حل

 

 

3-  

 : حل

 

 

 

 

4-  

 : حل

 

 

 

 

   

5-  

 :حل

  

                               

                                                                                      

                                             
 14 : تعذاد سوالات

Telegram: @riaziane 

 به نام خدا

 مرکز تخصصی ریاضیات ویژن

 :تاریخ  7پاسخنامه تشریحی آزمون شماره  
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